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Al 340,564 337,564 3,000
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01 XA 2 E F SH 69,000 69,000 0
2ololag=)| 28 A 22,000,0002 108 A 22,000 44,000 A22,000
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ANsX SEZAF MElg &8 =222 NS 3,000 0 3,000
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Al 203,711 176,711 27,000
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Al 203,711 176,711 27,000
HEZAIKIE ZAF L =X 60,400 33,400 27,000
201 L2 H 60,400 33,400 27,000
01 At 22l H 60,400 33,400 27,000
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PN 62,000 64,000 22,000
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A&z 2 62,000 64,000 A2,000
202 04l 2,000 4,000 A2,000
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NEES 2 753,093 740,593 12,500
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T 110,500 110,500 0
Al 469,961 465,461 4,500
NEEEANAHE 29 169,240 164,740 4,500
201 fet2E | 75,800 71,300 4,500
02 3324l 75,800 71,300 4,500
fS4 & ZAFEAAEH SN2l 64,500 60,000 4,500
C2EFA 2 172,632 164,632 8,000
= 14,300 14,300 0
Al 150,332 150,332 0
£ 8,000 0 8,000
C2H Y HE HS R 121,626 113,626 8,000
Al 113,626 113,626 0
£ 8,000 0 8,000
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Al 4,144,490 2,086,490 2,058,000
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= 521,187 512,246 8,941
Al 4,144,490 2,086,490 2,058,000
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= 521,187 512,246 8,941
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= 36,429 35,772 657
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= 11,611 11,380 231
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= 24,818 24,392 426
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= 484,758 476,474 8,284
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01 AtR 22l | 128,290 70,290 58,000




A XA
PR IRE V=
(=R B

e ﬂ;ﬁ“;”;ﬂm&%oé?i (el @ e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2

NEMEA EEI =8 28,000 0 28,000

MASXAH HEHESEH S 30,000 0 30,000

301 etE2H S 4,000,000 2,000,000 2,000,000

12JE2d= 4,000,000 2,000,000 2,000,000

NEMEAME ZES 4,000,000 2,000,000 2,000,000

HF2F A 75,820 77,520 A 1,700

Jl2 &3l 75,820 77,520 A 1,700

JlE&l 75,820 77,520 A 1,700

202 Oddl 10,000 15,000 A5,000

01 = LH 4 Hi 10,000 15,000 A5,000

HRFL 04l 10,000 15,000 A5,000

405 TtebH S 3,300 0 3,300

01 AL ESFH SH 3,300 0 3,300

A0 500,000& =204 1,000 0 1,000

EXNZME ZelHDl 1,500,000 = 1CH 1,500 0 1,500
EHIS3PC(2HY 2HUHGES &0 g)

400,000& =204 800 0 800

MWEEs 14 0 14

SHEXNE 14 0 14

=T Hlgtet= 14 0 14

802 Bret =2 JIEt 14 0 14

02 Al - EHIEXZSEHEZ 14 0 14

20218 SNBSS E HE XA 3 0 3

20218 E2HFA QALY 2MEZAF 2 FHI 3 0 3

20218 2 A2 HE MZA AXIAY 3 0 3

2021E MIAIS XA dUFSAS 5 0 5




